CIVL 1112

Surveying - Traverse

Group Example Problem 2

» Balance the latitudes and departures for the following
traverse.

Corrections Balanced
Latitude | Departure| Latitude | Departure

Length (ft.)| Latitude | Departure

Surveying - Traverse

B

» Balance the latitudes and departures for the following
traverse.

Group Example Problem 2

Corrections Balanced
Latitude |Departure| Latitude |Departure

Length (ft.)| Latitude | Departure

+0.72 ft.(600 ft.)
1800 ft.

CorrectioninDep,, = =+0.24 ft.

Surveying - Traverse

B

» Balance the latitudes and departures for the following
traverse.

Group Example Problem 2

Corrections Balanced
Latitude |Departure| Latitude |Departure

Length (ft.)| Latitude | Departure

_ +0.72ft.(450 ft.)

Correctionin Depg, = =+0.18 ft.

1,800 ft.

Surveying - Traverse Group Example #2

Surveying - Traverse

Group Example Problem 2

» Balance the latitudes and departures for the following
traverse.

Corrections Balanced

Length (ft).| Latitude | Departure| Latitude |Departure| Latitude | Departure

-0.541t.(600 ft.)
1800 ft.

Correctionin Lat,, = =-0.18ft.

Surveying - Traverse

B

» Balance the latitudes and departures for the following
traverse.

Group Example Problem 2

Corrections Balanced

Length (ft.)| Latitude | Departure| Latitude |Departure| Latitude |Departure

-0.54 1t.(450 ft.)
1800 ft.

Correctionin Laty. = =-0.135ft.

Surveying - Traverse

i

» Balance the latitudes and departures for the following
traverse.

Group Example Problem 2

Corrections Balanced

Length (ft.)| Latitude | Departure| Latitude |Departure| Latitude | Departure

~0.541t.(750 ft.)
1800 ft.

Correctionin Latg, = =-0.225ft.
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CIVL 1112

Surveying - Traverse

Group Example Problem 2

» Balance the latitudes and departures for the following
traverse.

Corrections Balanced
Latitude |Departure| Latitude |Departure

Length (ft.)| Latitude | Departure

+0.721t.(750 ft.)
1800 ft.

Correctionin Dep, = =+0.30 ft.

Surveying - Traverse

B

Group Example Problem 2

Questions?

Surveying - Traverse Group Example #2

Surveying - Traverse

Group Example Problem 2

» Balance the latitudes and departures for the following
traverse.

Corrections Balanced

Length (ft.)| Latitude | Departure| Latitude |Departure| Latitude | Departure

2/2





